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Note : This paper is of seventy (70) marks containing 

three (3) sections A, B and C. Learners are required 

to attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What is the seasonal variation of a time series ? 

Explain the various methods of estimating the reasonal 

variation and examine their relative merits.  

,d dky Js.kh ds lkef;d fopj.k dk D;k vFkZ gS \ 

lkef;d fopj.k dh fofo/k fof/k;ksa dks Li”V dhft, rFkk 

muds rqyukRed xq.kksa dh rqyuk dhft,A 

2. Explain the concepts of correlation and regression. 

How do they differ from each other ? Why are there 

two regression lines ? 

lglEcU/k ,oa izrhixeu vo/kkj.kkvksa dh O;k[;k dhft,A os 

vkil esa fdl izdkj fHké gSa \ izrhixeu js[kk;sa nks D;ksa 

gksrh gSa \ 

3. The probability that a contractor will get a contract for 

road construction is 
4

9
 and the probability that he will 

get contract for the construction of a water tank is 
5

7
. 

What is the probability of getting at least one of the  

contacts ? 

,d Bsdsnkj dks lM+d fuekZ.k Bsdk feyus dh izkf;drk 
4

9
 

gS vkSj mls ty dh Vadh cukus dk Bsdk feyus dh izkf;dRkk 

5

7
 gS rks bu Bsdksa esa ls de ls de ,d Bsdk feyus dh 

izkf;drk crkb;sA 
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4. What is meant by central tendency ? What are the 

various methods of measuring central tendency ? 

Explain. 

dsUnzh; izo`fŸk ls vki D;k le>rs gSa \ dsUnzh; izo`fŸk dh 

eki djus dh dkSu&dkSulh fof/k;k¡ gSa \ o.kZu dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain Cobb-Douglas production function. 

dkc&Mxyl mRiknu Qyu dks le>kb;sA 

2. If 2 siny x x , find 
dy

dx
. 

;fn 2 sin ,y x x  rks 
dy

dx
 Kkr dhft,A 

3. Show that : 

1

1 0

1

a b c

b c a

c a b
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fn[kkb;s fd % 

1

1 0

1

a b c

b c a

c a b

 

4. What is sampling ? Discuss briefly the different 

methods of sampling. 

fun’kZu D;k gS \ fun’kZu dh fofHkUu fof/k;ksa dk o.kZu 

dhft,A 

5. Show that the Fisher‟s ideal index number satisfiers 

both the time reversal test as well as the factor reversal 

test. 

fn[kkb;s fd fQ’kj dk vkn’kZ funsZ’kkad le; mRØkE;rk 

ijh{k.k rFkk rRo mRØkE;rk ijh{k.k nksuksa dks larq”V djrk 

gSA 

6. Define set with the help of examples. Describe Union, 

intersection and complement set operations. 

leqPp; dks fofHkUu mnkgj.kksa ds ek/;e ls le>kb;sA 

la;kstu] izfrPNsnu ,oa vuqiwjd leqPp; fl)kUrksa dks 

le>kb;sA 

7. Explain the terms Dispersion, Skewness and Kurtosis. 

vifdj.k] fo”kerk ,oa i`Fkq’kh”kZRo dks le>kb;sA 

8. Explain Lagrange‟s method of interpolation.  

vkUrjx.ku dh ySxjsat fof/k dk le>kb;sA 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Normal curve is a : 

(a) Positively skewed curve 

(b) Negatively skewed curve 

(c) J-shape curve 

(d) Symmetrical curve 

lkekU; oØ gksrk gS ,d % 

¼v½ /kukRed fo”kerk oØ 

¼c½ _.kkRed fo”kerk oØ 

¼l½ J-vkdkj oØ 

¼n½ lefer oØ 

2. Homogeneous function of degree one is a : 

(a) Short run production function 

(b) Long run production function 

(c) Cobb-Douglas production function 

(d) None of these 
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izFke ?kkr okyk le:i Qyu gS % 

¼v½ vYidkyhu mRiknu Qyu 

¼c½ nh?kZdkyhu mRiknu Qyu 

¼l½ dkc&Mxyl mRiknu Qyu 

¼n½ mi;qZDr esa ls dksbZ ugha 

3. Which of the following is not a one-dimensional 

diagram ? 

(a) Line diagram 

(b) Bar diagram 

(c) Duo-Directional bar diagram 

(d) Cubic diagram 

fuEufyf[kr esa ls dkSulk ,d&fp= ugha gS \ 

¼v½ js[kk fp= ¼c½ n.M fp= 

¼l½ f}&fn’kk n.M fp= ¼n½ ?ku&fp= 

4. Perfect negative correlation  is always : 

(a) – 1 (b) 0 

(c) + 1 (d) – 1 to 0 

iw.kZ _.kkRed lglEcU/k gksrk gS % 

¼v½ 1  ¼c½ 0   

¼l½ 1  ¼n½ 1 ls 0  

5. A distribution is called symmetrical when : 

(a) X Z   (b) Z X   

(c) M > X   (d) X M Z   

forj.k lefer gksrk gS tc % 

¼v½ X Z ¼c½ Z X  

¼l½ M > X   ¼n½ X M Z 



 [ 7 ] MAEC–104 

A-29 P. T. O. 

6. Coefficient of standard deviation is calculated by : 

(a) 
X

100   (b) 
X

  

(c) 
X

  (d) 100
X

  

izeki fopyu xq.kkad Kkr djus dk lw= gS % 

¼v½ 
X

100
 

¼c½ 
X

 

¼l½ 
X  

¼n½ 100
X

 

7. Sum of square of deviation is minimum when it is 

taken from : 

(a) Median (b) Mode 

(c) Mean (d) None of these 

fopyuksa ds oxks± dk ;ksx U;wure gksrk gS tc fopyu fuEu 

ls fy;k x;k gks % 

¼v½ ekf/;dk ¼c½ cgqyd 

¼l½ ek/; ¼n½ buesa ls dksbZ ugha 

8. Primary data as compared to secondary data are : 

(a) Less reliable (b) More reliable 

(c) Equally reliable (d) None of these 

izkFkfed lead f}rh;d lead dh rqyuk esa % 

¼v½ de fo’oluh; gksrs gSa 

¼c½ vf/kd fo’oluh; gksrs gSa 

¼l½ leku :i ls fo’oluh; gksrs gSa 

¼n½ buesa ls dksbZ ugha 
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9. If matrix A = 

1

2
1 2 3 4 , B

3

4

 , then AB will 

be : 

(a) 0 (b) 30 

(c) 45 (d) 1 

;fn lkjf.kd 

1

2
A 1 2 3 4 , B

3

4

]  rc 

AB gksxk % 

¼v½ 0 ¼c½ 30  

¼l½ 45  ¼n½ 1 

10. The component of time series does not include : 

(a) Secular Trend 

(b) Short time Oscillation 

(c) Irregular Fluctuation 

(d) Imaginary Fluctuation 

dky Js.kh fo’ys”k.k esa lfEefyr ugha gS % 

¼v½ nh?kZdkyhu izo`fŸk 

¼c½ vYidkyhu mPpkopu 

¼l½ vfu;fer mPpkopu 

¼n½ dkYifud mPpkopu 
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